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P DX NI'7'72D
w’ nl77Jn JIXPD AXKIN DNO N7

1 'on n7xY Jwnn
1 9o

50kw = AQs = m* Adbt *cpair =5* ADBT,_,*1

ADBT = =0 =10"C
5*1
DBT8=24-10=14°C

wBT8=10"C

A9QVo

AQT =m*Ah, , =5*28 = 140k—J =140kW
S

T9V0

AW, , =wl—w8=13—7 = §29M
kg
1kg = 6gmw
3600 . L

6kg =30gmw=30*——=10.8—
1000 h
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P DX NI'7'72D
w nl77Jn JIXPD AXKIN DNO N7

2 79RW PN N

225@ = 0.0625E :2°% 9210 Mp Mnd
h sec

mp°2 2291 NpIon

N

a'n 50% 7272 MpP 50%
0.03125-9 kg kg
m= alNehaly) m =0.03125-2
7Rk 15% DR 0N 35%
D oRmm mw = 0.15*0.03125 = 0.004687 -2 kg oY mw = 0.35*0.03125 = 0.010937 ~3 kg
X 9'Vo

D' NIT'XNN NIAPZYIA 12aNNYT )XY DINN NiNd
T'RQ = mw* L = 0.004687 * 2350 = 11kw
1 Qo
0°C Ty 'z 1*7nN2a NN NVYOIN DINN NN
0°C T nip*Q =m*C *At =0.03125*2.7* (30— 0) = 2.53kw
29'vo
0°C 7w ' 1*7nN2a 0'minn NV7910 DINN NIND

Qw=mw*Cw* At =0.010937 *4.18* (30 — 0) =1.37kw
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3[,;,@\| d 1177310 DX NI770D
VINPD XN ONO X7
190
DM [IX9' 17NN NVY791N DINN NIND
Q,, =M*L=0.010937*336 = 3.67kw
N 9'vo
—5°C Ty ' 1*7nna, N0 AIRWIN NP NIRRT N0Y7910 DINN Nid
Q =(mnpr+mmr7p)*C*At
Q =(0.010937 +0.03125) *2.7*5 = 0.569kw
npr = — 99 =11+2.53+1.37+3.67 + 0.569 =19.139kw
Qt=10+19.139 = 29.139%kw
Q=29.139kw nw TN NN NRI9SN N
no01 NX1 A
2
1 2 3 4
PMPa 0.3 2 1.9 2
T °c -12 70 42 -17
Y KJ 407 454 268 268
Kg
m= 2N _ 29199 540859
h1—h4 407 —268 S
T

10IW = P = m(h2 — hl) = 0.2408(454 — 407) =11.31kw

.n

Qen _29.139 _, .

COP=—"=
P 11.31

A
ZR144CE —n1n onTan DAT
Q=30.9Kw :nj7ion
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*d?
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t *|*z*n/60

* 2 i
7*0.075 3 1%1795%1/ 60 = 0.01269%

<

t

1x
717 7W N'on N'OIIRN NP'90

mt =Vt* pl=0.01269*16.6 = 0.211%

2N
N7 WD
Qen=m*(hl1-h4)=

Qen =0.211(408 - 275) = 28.129kw

2 9'Vvo
e Kg.
m't=Vt*p1=0.01269*10 = 0.1269?

22
RIRETARLI )b

Q'en = M*(h'1—h'4) =
Qen = 0.1269(397 — 275) = 15.48kw
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DUX NN

JIXPD AXKIN DNO X7

6 'on n7XRY |NNO

yop m3 D(mm) LT(m) AP APL v m
Qm? 2120 s
A-B 0.5 300 4.5 212 9.54 7
B-1 0.1 160 9.7 212 20.56 5
B-C 0.4 260 6.0 212 12.72 7
C-2 0.1 160 3.5 212 7.42 5
C-5 0.1 160 3.3 212 7 5
C-D 0.2 210 2.5 212 5.3 6
D-4 0.1 160 8.2 212 17.38 5
D-5 0.1 160 6.3 212 13.36 5
wmoap=APT=5_50-5_,,,Pa

LT 21.2 m
NN D'NN, NU'WN Moy Nndon 720 17 My [NN9N

10 Tmy 2017 t"vwn X Tvin— X"nlN'g nddvn n"nwn/o"nn jnan? nno




